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Options:
14

2)5
3)6

48
Correct Answer: 6

Candidate Answer: 8

QID:103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘P’ can
be represented by 11, 67, etc., and ‘W’ can be represented by 42, 79, etc.
Similarly, you have to identify the set for the word “SUITE”.

U Qg had Uh HEAT-OHE a1 g s R, Star B fRAeeut A @
et v & Rr s ¥ Rweul # Re v Fwn-wag 36w & o ot
ERT goiiw e §, Star & Bu 1w @) Heget & {1 megsl & Taew 3R
ufs & w@Ear 0 & 4 ¥ 3R snegEn Hr 5 F 91 39 YR § U BN
P Ugel 3TN URh IR ag # TN @ gRT W1 ST AhAT
seror & fow PPy 11, 67, 3nfe RT GRifT S FhaT ¥ TAT W B 42,
79, 3G ERT GRMT ST Ahal &1 3 a¥e & uN uH H QU wq
“SUITE” & faT @epg & ugaEar §1

Matrix-I Matrix-Ii
NG 3reE-l
0[1[2[3[4 5[6[7[89

O[D|F|H[J|L 5|L|N|G[IT]|A

1[N|P|R[T|V 6lJ|CIP[K[Y

2[X[Z|[B[E[C 7/H[R|[B[M|W
3[T[K[m[o[Q| [8[F[T|Z[O|U
4[S|U[W[X]|A 9lE|V[X[Q[s

Options:
1) 40, 89, 31,12, 22

2) 99, 41, 30, 85,23
3) 40, 89, 58, 86,95

4) 99, 41, 56, 88, 95
Correct Answer: 40, 89, 58, 86, 95

Candidate Answer: [ NOT ANSWERED ]
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QID : 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R At F ¥ 3@ T FglA F AT
Sra & oy amgla Bk B

4

Options:

1)
> |

2)

3)

4)

2

Correct Answer:

X
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Candidate Answer:

X

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

Fig @ 3R FPA Uy APHla F uldww F @
FIN?

3%
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Correct Answer:

N

Candidate Answer:

N\

QID: 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE T YT F AB @1 W IW@T AT, ar & T
3T Al # ¥ dlg W mpa uy pla &
e ufafesa aefr?
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Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID : 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr & ux apfaar A REm gErR Feer @
Az Ve JUT el & ag a8 5T 3T 3Fa
S g geme

RN|REZRE

Options:
1)

2)

OO0
OO0

3)

o0
o0

4)

o0
o0
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Correct Answer:

Candidate Answer:

OO0
OO0

QID : 108 - What will come in place of question mark (?) in the given equation?
14?78?716?74=16

g mq geftenvor & uy g (?) & W WR T SYI?

14?7871674=16

Options:

1)+ +and -

+,+dgT -
2) x,+and —

X, +ddr -
3) +, +and x

+, + dYUr x
4) +,+ and x

+, + TAT x
Correct Answer: +, + and x
+, + TAT x

Candidate Answer: [ NOT ANSWERED ]

QID:109-1f9%11%5=793and4% 9 %7 =275then8%2%6="?

9% 11%5=793qA4%9%7=2758,A8%2%6=?

Options:
1) 604

2) 377
3) 539

4) 460
Correct Answer: 604

Candidate Answer: [ NOT ANSWERED ]

QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Stone
2. Store
3. Single
4. Sand
5. Singer

frfeaa areal &t Aregeniar & 1T aTet 3hH o SIgER ford|

1. Stone
2. Store
3. Single
4. Sand
5. Singer
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Options:
1) 34512

2) 34521

3) 45312

4) 43521

Correct Answer: 45312

Candidate Answer: 45312

Download More Papers From GovtJobsAlert.In

QID : 111 - In the following question,select the missing number from the given alternatives.

6,17,10,14,14,11,18,?

At wer 7 Ry g feredt 7 & g ek 71a HfSg)

6,17,10,14,14,11,18,?
Options:
1)8

2)7

3)6

49

Correct Answer: 8

Candidate Answer: 8

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

A,B,D,G,K,?

Ten S1eRd féa man 8, o © Uk ug e 81 e g faseedt A § a8 98t e gy, St orgehd At [ R

A,B,D,G,K,?
Options:
)N

2)M

3)P

40

Correct Answer: P

Candidate Answer: P

QID : 113 - In the following question, select the odd word from the given alternatives.

et wer 7 Ry 7Q feredt & @ fowm <reg &t gfAml
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Options:

1) Car

DR

2) Motorcycle
Hiex-ATgfhet

3) Bullock cart
ERUISH

4) Truck
<h
Correct Answer: Bullock cart

Candidate Answer: Bullock cart

QID : 114 - In the following question, select the odd number pair from the given alternatives.

fmfafEa uer & Ry e Reet & @ Rvw dwen gm &t gfagl

Options:
1) 43:47

2)61:67
3)71:73

4)83:87
Correct Answer: 83 : 87

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - In the following question, select the odd letters from the given alternatives.

frfafEa uer & Ry g fereat & @ fawm s1eri &t gl

Options:

1) DF

2) KN

3)Gl

4) SU

Correct Answer: KN

Candidate Answer: KN

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Sky, Continent, Ocean
9% IRE gAY i1 =i g g T o ffa o ey o 95t 0T ahea gl

TR, HETZT, HETATR
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Options:

1)

3)

4)

O
O

Correct Answer:

OO
O

Candidate Answer:

OO
O

QID : 117 - In the following question, select the related word from the given alternatives.
Cricket : Ball : : Badminton : ?

frafafEa uer § g g et § § wefda g @t gfg

fohdhe 1 g defles: 2
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2) Shuttle
fere
3) Striker

SHEC
4) Dice

qrEr

Correct Answer: Shuttle

feret

Candidate Answer: Shuttle

et

QID : 118 - In the following question, select the related
number from the given alternatives.

123:6::232:7?
ffeea us o 16U 7Y faeheut & € Heiferd €& ot giu

123:6::232:7?
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Options:
1) 8

2) 10

3) 12

4) 14

Correct Answer: 12

Candidate Answer: 10

QID : 119 - In the following question, select the related
letters from the given alternatives.

TN:YS::JK:?
Fferfea u & fou 7y fdreat 7 & defda siert o gyl
TN:YS::JK:?
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Options:
1) OP

2) NP

3) NO

4) 00

Correct Answer: OP

Candidate Answer: OP
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QID : 120 - In the following question, select the word

which cannot be formed using the letters of the given
word.

COMMUNICATION

T faeheul & 9 ag 21 g St i 71Q 21eg o 37eRy o
UIRT hch Aal I ST ehdT |

COMMUNICATION
Options:
1) COMUNE

2) NATION

3) COMMON

4) MUNATION

Correct Answer: COMUNE

Candidate Answer: COMUNE
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QID : 121 - Deepak remembers his examination is after
23rd December. While his mother remembers his

examination is before 25" December. On which date of
December is his examination?

EIUh opt TS & ok Igh! udiarT 23 fRgwaR & 918 &1 STafch Iqch!
ATdT <ht TTE & foh ITh! udterr 25 Rgwr 4 uga g1 I9h! uian
fegrer & forg fafd &Y &2

Options:
1) 24

2) 23

3) 25

4) 26

Correct Answer: 24
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Candidate Answer: 24

QID : 122 - In a row of 40 trees, lemon tree is 23 from
the right end. What is its position from left end?

40 geit <hY Tep Ufch H, A1 hT g&7 SRt TR & 23 a7 g1 IRt 81k

T IYchT W T 872

Options:
1) 19

2) 17

3)18

4)16

Correct Answer: 18

Candidate Answer: 18
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QID : 123 - In the following question below are given

some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be at
variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logicaly follows the given statement.

Statements:
I. All pens are chairs.
Il. Some chairs are tables.

Conclusions:
I. Some pens are tables.
Il. Some chairs are pens.

1 14U 7TQ U & B R 3R I 18 I YA UR HATYIRA
% ARy 2T 1T 8, gTatifch I9H I T1d a2t 9 {9=ar g
Gehd! g1 9t ey ug ik iR AaiRa s fh fiiu mu spla @

fsepy, f&Q TQ SRl o STUR WR ke g

h¥y-:
. 9t hetq ST |
1. T BTl A &

fArsep:

l. S heTH AT B

Il. B HIEAT herH |
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Options:

1) Only conclusion (ll) follows.
chaet Aty (11) Ta! 8|

2) Only conclusion (1) follows.
chadt [y (1) T8t 8l

3) Neither conclusion (I) nor conclusion (ll) follows.
T dt fAsepd (1) 7 81 Aty (1) T8t 8l

4) Both conclusion follow.

g1 gt sy 98l 81

Correct Answer: Only conclusion (Il) follows.
chad fsny (I1) Tal 8

Candidate Answer: Only conclusion (II) follows.
charet fsent (1) T2t 21

QID : 124 - In a certain code language, "FROG" is written
as "lURJ". How is "JUMP" written in that code language?

Ueh [af® s 9TeT |, "FROG" &l "IURJ" foi@1 SIdT € | 39 &hls
e § "JUMP" oht fohg UehRR forat siTae?
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Options:
1) MXPS

2) MXPR

3) MWPS

4) MWPT

Correct Answer: MXPS

Candidate Answer: MXPS

QID : 125 - In a certain code language, "CALL" is written as
"84" and "ROAM" is written as "141". How is "HANG"
written in that code language?

Uch [afs st vreT |, "CALL" <ht "84" duT1 "ROAM" ! "141"
foraT ST 21 39 ahie 9T # "HANG" ohf fohg UahR forar

STTQT?
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Options:
1) 30

2) 60

3) 90

4) 120

Correct Answer: 90

Candidate Answer: [ NOT ANSWERED |

QID : 126 - How many positive factors of 120 are there?

120 & fhd= Y-ITcHe UHES gld 87?
Options:

1) 12

2) 16

3) 24

4) 36

Correct Answer: 16

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
Candidate Answer: 12

QID : 127 - How many times the digit 2 appears in the first
100 natural numbers?

UH 100 UTchideh T3l H 3ich 2 fohd=l SR 3ATdT 87
Options:

1) 10

2) 19

3) 20

4) 21

Correct Answer: 20

Candidate Answer: 19

QID: 128 -

What is the value of /613 + \,’144 ?

J613 + 144 &1 T Fam &2

Options:
1) 25

2) 12
3)13
4) 26

Correct Answer: 25
Candidate Answer: 25
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QID : 129 - If 727P is divisible by 8, then what is the value
of P?

gfe 727P 8 4 fAsifia &, aY P T A1 <RIT 272

Options:
1) 2

2) 4
3)6
4)8

Correct Answer: 2
Candidate Answer: 2

QID:130-
What is the value of11%+11%+11g?
11%41%41%&1 AT AT &2

Options:

1) 35

2) 33

3) 34

4) 36

Correct Answer: 34
Candidate Answer: 34
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QID : 131 - Which of the following is not a perfect square?

fefeiiRad & 9 ot g gof i =181 82
Options:
1) 10000

2) 961
3) 1521

4) 776
Correct Answer: /76
Candidate Answer: 776

QID : 132 - A and B can complete a work in 40 days, B and
C in 60 days and A and C is 48 days. Who is the most
efficient worker among A, B and C?

A a1 B fordlt o aht 40 fF & qrioped €1 B qur C, 60 &=t o
dATAdUTC, 48 AT H QRTAIA &1 A, B IUT C H I Fordt AHfdeh
RTIHRI hi 82

Options:

1) A

2)B

3)C

4) Cannot be determined

T Agt fhdT ST Gehd]

Correct Answer: A

Candidate Answer: [ NOT ANSWERED |
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QID : 133 - Pipes A and B can fill atank in 5 hours and 20
hours respectively. If both pipes are opened then, how
much time (in hours) it will take to fill the tank?

g13y A dUT B Tah ehl hl shAST: 5 ©d dUT 20 ©¢ § WX Jaohd &l
gfe 1 ursyl ) @it e g, at bt ot aRA | fohd-m 9w
(gt /) Tm?

Options:

1)4.5

2) 3

3)3.5

4) 4

Correct Answer: 4

Candidate Answer: 4

QID : 134 - If the radius of sphere is reduced by 10%, then
what will be the percentage change in its total surface
area?

gfe foreft Mt hY Bsar oY 10% @ vd e & 91T, aF 39 Mt
el YSIT &Fthel | fohdm fara & et givft?
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Options:
1) 21

2) 19
3) 20
4) 22

Correct Answer: 19
Candidate Answer: [ NOT ANSWERED |

QID : 135 - Marked price of an article is Rs 3500. It was
sold at a discount of 14.28%. If there was a loss of 20%,
then what was the cost price (in Rs) of the article?

Qeh g% ohl 3ifchd Hed 3500 % 81 3H 14.28% <hl ¢ WR f&ar man
T AR 20% Y g1 g% off, o v e (3 ) R A

Options:
1) 3500

2) 3750
3) 4000

4) 4250
Correct Answer: 3750
Candidate Answer: [ NOT ANSWERED |
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QID : 136 - Cost price of an article is Rs 2500. Its price is
marked up by 20%. If the article is sold at 15% discount,
then what is the value of profit (in Rs)?

Qeh I T 5hd Hed 2500 3 81 I8ch Hed bt 20% H TG STl
g1 Ife a& hl 15% <kl B¢ UR &1 SMY, dt AT <kl A (3 H) T
gi?

Options:

1) 50

2) 150
3) 250

4)75
Correct Answer: 50
Candidate Answer: 50

QID : 137 - Shopkeeper sold big, medium and small sized
bulbs for Rs 150, Rs 80 and Rs 50 respectively. The total
number of bulbs sold were intheratio2:7:11. What is
the average cost of a bulb?

Uch GhTMGR &8, He dYUT Bid HT3sl o sded shAT: 150%, 80 %
a1 50 T H ST €1 el o 7Y Sosl hl SUTT 2 : 7 : 11 ATl Teh
dodl <hl 3O ShiFd 1 87
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Options:
1) 72.5
2) 70.5
3)75.5
4) 80
Correct Answer: 70.5
Candidate Answer: 70.5

QID:138-1f x:y:z=3:4:9,then what will be the value
of (2x+ 3y +z) : (2z + x — 3y)?

gicx:y:z=3:4:98 a (2x+3y+2):(2z+x — 3y) A EA
T 8|

Options:

1) 3:1

2)2:1

3)5:3

4)7:2

Correct Answer: 3 :1

Candidate Answer: 3 :1

QID : 139 - Average age of A and B is 20 years. Average
age of B and C is 18 years. Average age of Aand C is 21
years. What is the average age (in years) of A, B and C?

A TUT B hl 311Ed 31g 20 a9 g1 B 947 C h 3i14d 311 18 W
g1 A TUT C <hl 37iad g 21 a9 g1 A, B a1 C <hl 31 ad 311g
(ol H) =1 87
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Options:
1) 7.1

2)19.67
3) 19

4) 29.5
Correct Answer: 29.5
Candidate Answer: 29.5

QID : 140 - There would be 15% loss if atoy is sold for Rs
25.50. At what price should it be sold to earn a profit of
25%7?

Uch RAeAl apt 25.50 T H s U 15% bl 81 8Idl 81 25% T
T ehd ch folT RIefie ahl fohas & & = arfeu?

Options:

1) 33.5

2) 35
3) 37.5
4) 36

Correct Answer: 37/.5
Candidate Answer: 37.5
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QID : 141 - If the cost price of an article is 50% of the

selling price, then what is the profit percent?

gfe Yeh a¥d T shd Hed, faehd 7o a1 50% @, df & ufasra
T 8?

Options:

1) 100

2) 50

3)75

4) 150

Correct Answer: 100

Candidate Answer: 75

QID : 142 - What is the value of (36% of 4400) — (20% of
780)?

(4400 =T 36%) — (780 et 20%) T AT 1 87

Options:
1) 1378

2) 1578
3) 1428

4) 1298
Correct Answer: 1428
Candidate Answer: 1428
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QID : 143 - What is the value of 20% of 2/3 of 7207?

720 ch 2/3 AT 20% <hT AT HIT 872

Options:
1) 96

2) 40
3) 112

4)114
Correct Answer: 96
Candidate Answer: 96

QID : 144 - A man covers 3/5 of the total distance by train

and the remaining 40 km by bus. What is his total journey
(in km)?

Uk Afh U] el TTAT <kl 3/5 U IeTTS] GRT T hdl 8 AW
it g2t 40 foh. Hi. I8 9 gRT 93 dT &1 IHchl el ITAT hl
s (fon. ). #) aar &7

Options:

1) 50

2) 75
3) 100

4) 150
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Correct Answer: 100

Candidate Answer: 100

QID : 145 - A man can row 8 km/hr in still water. If the
speed of the current is 4 km/hr, he takes 8 hours more in

upstream than in the downstream. What is the distance
(in km)?

T ST | Teh Af<h <hl 7T 8 fop. |, /8@ &1 afc &Ry <ht 71fd 4
feh. HY. /51 8, YRT o8 3iJchet &M H oo R S H Sia=1 g7g
oITAT &, 399 8 € 31fdeh THT URT & Ufddd G & Ia-it af &l
a3 H orar g1 1 (fop. =t ) o 82

Options:
1) 24

2) 48
3) 36
4) 72

Correct Answer: 48
Candidate Answer: [ NOT ANSWERED |
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QID : 146 - A certain amount is invested in a scheme of

simple interest. It amounts to Rs 3600 in 5 years and Rs
4560 in 8 years. What is the rate of interest (in
percentage)?

Qeh AT 1Y el FILROT &ATST aTelt Teh Tioi-T | Hasr fohar
TgT1 g8 59w & 3600 % IUT 8 ot § 4560 ¥ gl STt | T
bl &R (ufdera H) war 8?

Options:
1) 14

2) 24
3) 16
4) 20

Correct Answer: 16
Candidate Answer: [ NOT ANSWERED |
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QID : 147 -

The pie chart given below shows the monthly
expenses on various heads of a family. The total
expenditure of the family is Rs 30000.

drr for or g9 R # v wRar & Rfdes ag w
P I gt FfAe cuT & cotar T ¥ ofEr
&1 Fel =T 30000 T ¥

Fuel / $ereT
- S Food / $iYsret
Entertainment/ 0o
HARST 25%
10%

Clothing / 93 Rent / fertmr
17% 12%
Education/ iscellaneous

fRrem | fafaer
18% 13%

What is the amount (in Rs) spent on food?

W UR <0y <hl 115 AT (T H) a1 82

Options:
1) 2500

2) 5000
3) 7500

4) 8000
Correct Answer: /500
Candidate Answer: 7500
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QID : 148 -

The pie chart given below shows the monthly
expenses on various heads of a family. The total
expenditure of the family is Rs 30000.

drr for o g9 R # v wRar & Rfdes #g w
Fd I gt FfRe cog & cotar T ¥ ofEr
&1 el =T 30000 T ¥l

Fuel / §4a1
- S Food / siterer
Entertainment/ 0o
HARST 25%
10%

Clothing / 93 Rent / fortmr
17% 12%
Education/ iscellaneous

fRrem | fafaer
18% 13%

What is the total amount (in Rs) spent on fuel and
education?

Se T AT WR et fohaT =g (3 ) g3 &2

Options:
1) 6900

2) 7100
3) 5700

4) 6300
Correct Answer: 6900
Candidate Answer: 6900
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QID : 149 -

The pie chart given below shows the monthly
expenses on various heads of a family. The total
expenditure of the family is Rs 30000.

a or or g9 R # 1o wRar & R #g w
Fd I gt FfRe cog & cotar T ¥ ofEr
&1 el =T 30000 T ¥l

Fuel / §4a1
- S Food / siterer
Entertainment/ 0o
HARST 25%
10%

Clothing / 93 Rent / fortmr
17% 12%
Education/ iscellaneous

fRrem | fafaer
18% 13%

What is the difference (in Rs) between the amount spent
on entertainment and clothing?

RS JUT huSl UR fhT T &Y oAl 3iaR (T H) fohd-1 8?2

Options:
1) 2300

2) 2700
3) 1800

4) 2100
Correct Answer: 2100
Candidate Answer: 2100
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QID : 150 -

The pie chart given below shows the monthly
expenses on various heads of a family. The total
expenditure of the family is Rs 30000.

drr for o g9 R # v wRar & Rfdes #g w
Fd I gt FfRe cog & cotar T ¥ ofEr
&1 el =T 30000 T ¥l

Fuel / §4a1
- S Food / siterer
Entertainment/ 0o
HARST 25%
10%

Clothing / 93 Rent / fortmr
17% 12%
Education/ iscellaneous

fRrem | fafaer
18% 13%

Amount spent on fuel is what percent of amount spent on
food?

S UR TohdT 0T &g @H WR fohT 7T &g ot fohd=T Ufdeid 82
Options:
1) 25

2) 20
3)5
4) 40

Correct Answer: 20
Candidate Answer: 20
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QID : 151 - In the following question, some part of the

sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Rohan suggested to his sisters that they should (1)/ go to
the school regularly and (2)/ do their homework sincerely.
(3)/ No Error (4)/

Options:

1) 1

2) 2
3) 3

4)4
Correct Answer: 4
Candidate Answer: 1

QID : 152 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Your sister’s in-law’s friend is (1)/ seriously ill and she

wants you (2)/ to see her as soon as possible. (3)/ No
Error (4)/
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Options:
1) 1

2) 2
3) 3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 153 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Mahatma Gandhi’s life some of the greatest
events of the century.

Options:

1) overcome

2) included

3) spanned

4) rumoured

Correct Answer: included

Candidate Answer: overcome
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QID : 154 - In the following question, the sentence given

with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

It to me that her husband was incurable.

Options:
1) happened

2) occurred
3) suggested

4) flashed
Correct Answer: occurred
Candidate Answer: happened

QID : 155 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Resistant

Options:
1) Opposing

2) Obedient
3) Submissive

4) Willing
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Correct Answer: Opposing

Candidate Answer: [ NOT ANSWERED |

QID : 156 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Grasp

Options:

1) Ignore

2) Misunderstand

3) Release

4) Clinch

Correct Answer: Clinch

Candidate Answer: [ NOT ANSWERED |

QID : 157 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Eternal

Options:
1) Ending

2) Ageless
3) Brief

4) Temporary
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Correct Answer: Ageless

Candidate Answer: [ NOT ANSWERED |

QID : 158 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Deport

Options:
1) Exile

2) Dismiss
3) Permit

4) Transport
Correct Answer: Permit
Candidate Answer: [ NOT ANSWERED |

QID : 159 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Profound
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Options:
1) Ignorant

2) Deep
3) Heavy

4) Learned
Correct Answer: Ignorant
Candidate Answer: [ NOT ANSWERED |

QID : 160 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Feeble

Options:
1) Delicate

2) Aged
3) Effective

4) Gentle
Correct Answer: Effective
Candidate Answer: [ NOT ANSWERED |

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In _
QID : 161 - In the following question, out of the given four

alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

Bed of roses

Options:
1) A problem difficult to solve

2) To take part
3) Joy based on false hopes

4) A pleasant situation
Correct Answer: A pleasant situation
Candidate Answer: [ NOT ANSWERED |

QID : 162 - In the following question, out of the given four
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

Body and soul

Options:
1) Free and frank

2) With all your energy
3) To be an expert
4) Mutual cooperation

Correct Answer: With all your energy
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Candidate Answer: [ NOT ANSWERED |

QID : 163 - In the following question, out of the four
alternatives, select the alternative which will improve the
bracketed part of the sentence. In case no improvement
is needed, select "no improvement”.

| am (a student of the Delhi University).
Options:

1) the student of a Delhi University

2) a student of Delhi University

3) student of Delhi University

4) No improvement

Correct Answer: a student of Delhi University
Candidate Answer: a student of Delhi University

QID : 164 - In the following question, out of the four
alternatives, select the alternative which will improve the
bracketed part of the sentence. In case no improvement
is needed, select "no improvement”.

| wish he (was) here.
Options:
1) has been

2) were

3) would be

4) No improvement
Correct Answer: were
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Candidate Answer: has been

QID : 165 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

Stream flowing into another big river

Options:
1) Tributary

2) Peninsula
3) Strait

4) Hermit
Correct Answer: Tributary
Candidate Answer: [ NOT ANSWERED |

QID : 166 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

That which can be easily believed
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Options:
1) Assurance

2) Credible
3) Obvious

4) Honorary
Correct Answer: Credible
Candidate Answer: Honorary

QID : 167 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.

Options:

1) Accomodate
2) Acommodate
3) Acomodate

4) Accommodate

Correct Answer: Accommodate
Candidate Answer: Accomodate

QID : 168 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
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Options:
1) Bulatin

2) Bulletin
3) Bulleton

4) Bulleten
Correct Answer: Bulletin
Candidate Answer: Bulletin

QID : 169 - The question below consists of a set of
labelled sentences. Out of the four options given, select
the most logical order of the sentences to form a
coherent paragraph.

Rural population

P: as the number is considered
Q: urban population as far

R: still dominates the

Options:
1) QPR

2) PQR
3) RPQ
4) RQP

Correct Answer: RQP
Candidate Answer: [ NOT ANSWERED |
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QID : 170 - The question below consists of a set of
labelled sentences. Out of the four options given, select
the most logical order of the sentences to form a
coherent paragraph.

We can enhance development

P: women power, by giving women

Q: by improving

R: the opportunity to develop themselves

Options:

1) PRQ

2) QRP

3) QPR

4) RPQ

Correct Answer: QPR

Candidate Answer: [ NOT ANSWERED |
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QID : 171 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

In the past, a woman’s job was to stay athome ___
care of elderly people. Now many of them to
choose to work so they do not have time to take care of
the elderly. In addition, homes provide care for a
large number of elderly people. Thisisa______ service
and nurses are trained to take care of . They will
have frequent checkups and make sure that they always
maintain good health every day.

woman's job was to stay at home

Options:
1) take

2) do
3) make

4) break
Correct Answer: take
Candidate Answer: take
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QID : 172 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

In the past, a woman’s job was to stay athome ___
care of elderly people. Now many of them to
choose to work so they do not have time to take care of
the elderly. In addition, homes provide care for a
large number of elderly people. Thisisa______ service
and nurses are trained to take care of . They will
have frequent checkups and make sure that they always
maintain good health every day.

Now many of them to choose to work

Options:
1) spend

2) mend
3) tend

4) trend
Correct Answer: tend
Candidate Answer: [ NOT ANSWERED |
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QID : 173 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

In the past, a woman’s job was to stay athome ___
care of elderly people. Now many of them to
choose to work so they do not have time to take care of
the elderly. In addition, homes provide care for a
large number of elderly people. Thisisa______ service
and nurses are trained to take care of . They will
have frequent checkups and make sure that they always
maintain good health every day.

In addition, homes provide

Options:
1) commercial

2) residential
3) retail

4) wholesale
Correct Answer: residential
Candidate Answer: [ NOT ANSWERED |
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QID : 174 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

In the past, a woman’s job was to stay athome ___
care of elderly people. Now many of them to
choose to work so they do not have time to take care of
the elderly. In addition, homes provide care for a
large number of elderly people. Thisisa______ service
and nurses are trained to take care of . They will
have frequent checkups and make sure that they always
maintain good health every day.

This is a service

Options:
1) unprofessional

2) door to door
3) lethargic

4) professional
Correct Answer: professional
Candidate Answer: door to door

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
QID : 175 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

In the past, a woman’s job was to stay at home ___
care of elderly people. Now many of them to
choose to work so they do not have time to take care of
the elderly. In addition, homes provide care for a
large number of elderly people. Thisisa______ service
and nurses are trained to take care of . They will
have frequent checkups and make sure that they always
maintain good health every day.

trained to take care of

Options:
1) senior citizens

2) young ones
3) infants

4) toddlers
Correct Answer: senior citizens
Candidate Answer: senior citizens

QID : 176 - The main watchdog of International Trade is

SRTT AUR AT AU gl
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Options:
1) World Trade Organization (WTQ)
fasy ATUR he (Sse &t 31i)
2) Internation Trade Center
STRITTT SATUR hg,
3) World Customs Organization
oy TagR &g
4) Wold Bank (IMF)
fersy sfen (3115 TH Th)
Correct Answer: World Trade Organization (WTQ)
fasy ATUR hg (Sse &t 31h)

Candidate Answer: World Trade Organization (WTO)
fasy ATUR he (Sse &t 31)

QID : 177 - Which of the following economic activities
comes under primary sector?

1. Cotton weaving
2. Agriculture
3. Transport

fAafafaa 7 @ ot Y enfdfes nfafafaat urufae &sren & siafa
3Tdlt 82
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Options:
1) Only |
chad |
2) Both | &I
| a2 1| gt
3) Both | &I
| a2 [l =T
4) All 1, 1l and Il
|, 1 11 gt

Correct Answer: Only |

chad |

Candidate. Answer: Both | & I
| g7 Il St

QID : 178 - Who among the following elects their Chief
Minister?

fEfeiiRad & 9 optH U= gEgHsIt IAd 87
Options:

1) Ruling Party Member

IAIYR &l & 9

2) Losing Party Members

faueft 1 & Te

3) Governor of State
IS oh ST

4) President of India
YR o JgUfd

Correct Answer: Ruling Party Member
GATURI &l oh &
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Candidate Answer: Ruling Party Member

AT & o 9e

QID : 179 - Fundamental Rights are enumerated in which
part of Indian Constitution?

WRAT TfaeT o fhd WHT | Hifelen iR afvid g7

Options:
1) Part |
T |

2) Part Il
HT I

3) Part Il
T |1

4) Part IV
AT IV

Correct Answer: Part Ili
T I

Candidate Answer: Part Il
T I

QID : 180 - Who was the most famous Mauryan ruler?

U §37 ch 9999 Ul¥ieg MTeh i 47
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Options:
1) Chandragupta Maurya
e[ |G
2) Bindusara

ELEIN

3) Ashoka
312M<h

4) Chandrapurta-
eIt
Correct Answer: Ashoka

31N
Candidate Answer: Chandragupta Maurya

e[t |1

QID : 181 - Khan Abdul Ghaffar was also known by which
name?

QT 37sgel THFAR ohl fehd =T A1 I T ST ST U1?

Options:
1) Suleman

SGEIE]

2) Badshah Khan
STERITE W

3) Abdul Khan

3fegcT WM

4) None of the these

318 9 ohiS el

Correct Answer: Badshah Khan
JTERITE W
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Candidate Answer: None of the these

T8 Q BIE 78T
QID : 182 - The equator represent degree Latitude?

ELCEEE! SIRT STETILT <hl GRATT 872
Options:
1) 23

2) 90
3) 0

4) 67
Correct Answer: 0
Candidate Answer: 90

QID : 183 - What is the solid portion of the Earth on which
we live called?

gedt ol 319 W 919 TR gH Igd 8 S KT Thgl SITdT 872
Options:
1) Lithosphere

THEA
2) Atmosphere

IgHSA
3) Biosphere
NICECC|

4) Hydrosphere
STeTHS
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Correct Answer: Lithosphere

THedA

Ca.ndidate Answer: Lithosphere

THEA

QID : 184 - Iron in haemoglobin exists as

g A eig & 3uH Hivg B g
Options:

1) Un-ionized iron atom

31-3MTITchd UIHTY]

2) Ferric ions only

chadl ThiReh AT

3) Ferrous ions only

chadl Thg 3T

4) Ferric or ferrous ions depending upon the oxygenated
state

TSI chl Q1T TR R thiReh g1 theg 31T

Correct Answer: Ferrous ions only

chadl g 3T

Candidate Answer: Ferric or ferrous ions depending upon
the oxygenated state

STt <hl 21T TR R thiReh g1 theg 31T

QID : 185 - Menopause is the stage in human female
when

Afgrsti # g gg TWRUTEATgSa |
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Options:
1) Menstruation starts

HTTeh Tch STRFY gidT &

2) Puberty begins
AIGRF gidT 8

3) Menstruation stops and reproductive capacity is
arrested

1Ak Ik Teh ST € 3R TSt &HaT effor g SIrdl &

4) None of the these

3TH H § IS T8

Correct Answer: Menstruation stops and reproductive
capacity is arrested

1Ak Teh Teh ST & 3R Uoia= &rHdT &ftor gt SIrdt &

Candidate Answer: Puberty begins

IR gidT &

QID : 186 - Which of the following cells of pancreas
produce insulin?

ST chl ehi-HT hIfRAhR Ffel AT (AHTUT Al g2

Options:
1) Alpha cells
37T hifRAhR

2) B cells
ot ShlfRAhTd

3) Beta cells

ot enifrerrdd

4) T cells
&l hifAprd
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Correct Answer: Beta cells

offeT eplfrenrd

Candidate Answer: Beta cells

offeT eplfrenrd

QID : 187 - Sound waves are

g aai_ gidi gl

Options:

1) transverse electrical waves

YUY faga a3t

2) longitudinal mechanical waves

3¢ gitaeh adl

3) surface waves

Y-U8 a3l

4) both transverse electrical waves and longitudinal
mechanical waves o

Correct Answer: longitudinal mechanical waves
3¢ gifAeh

Candidate Answer: longitudinal mechanical waves

s i o

QID : 188 - Electromotive force represents __
ERREIRECE UGS
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Options:
1) resistance

UTc=Ier oht

2) power

1f<h ht

3) energy per unit charge

UTd chTg STTART Foll chl

4) current
¢RT <hl

Correct Answer: energy per unit charge

UTd gchTg START Foll chl

Candidate Answer: energy per unit charge

UTd Shls STTART Sholl chl

QID : 189 - What is the full form WAN?
8scg, U. U, ohl S4fad &4 o1 872
Options:

1) Wide Area Network

qrss URar Aeah

2) Wide Access Network

dr3s Uedg Hedsh

3) Work Area Network

dch URAT Aeadh

4) Work Access Network

gch Yodq Aeddh

Correct Answer: Wide Area Network
qrss URAr Aeah

Candidate Answer: Work Area Network

aeh YRAT Aedch
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QID : 190 - Which of the following has an equal number of
neutrons and protons?

fefeiied o 9 fohad =g 3R Uit hl T SRTeR gldl 872

Options:
1) Hydrogen

AN

2) Deuterium

Syciay

3) lodine
IS

4) Chlorine
AR

Correct Answer: Deuterium

Syciay

Candidate Answer: Hydrogen

gIggloH

QID : 191 - Which is the fundamental particle not present
in the nucleus of hydrogen atom?

SISSISIH URHTY] o AT{Heh H hiH-TT He hUT ATl UTT SITdT?
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Options:
1) electron
2) proton
gleid

3) neutron

o<

4) None of these
A O is g1
Correct Answer: neutron

A

Candidate Answer: neutron

A

QID : 192 - Phosphorus and nitrogen are examples of
which type of impurities in sewage?

ThIThIRY AT ATSgIo 3fE arfed Ael | fohd TR i S1g[fgat o
IS0 87

Options:

1) Organic

GACIEET

2) Inorganic

3) Nutrients
Oi¥eh dcd

4) None of these
g4 ° I ohls Aal
Correct Answer: Nutrients

TIYeh dcd
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Candidate Answer: Organic

CARIEEY

QID : 193 - Policy holders of Pradhan Mantri Jeevan Jyoti
Bima Yojana get life insurance cover of what amount?

TYTHAT STaT ST SHHT TISTAT b YTReh fehd TR AT St
STHT T&TUT UTWT ehd 872

Options:
1) Rs 1 lakh
IRSIEEK
2) Rs 2 lakh
PASIEC K]
3) Rs 3 lakh
SRSIECKY
4) Rs 5 lakh
SESIEEKY

Correct Answer: Rs 2 lakh
2 S

Candidate Answer: Rs 3 lakh
RESIECKS

QID : 194 - Periodic Table was first given by whom?
3Tad GRUM TaugH fohddh gRT & 18 oft?
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Options:
1) Otto Blathy
37t sAredt
2) Johannes Kepler
PEMY heiR
3) Dmitri Mendeleev
SHI Heelith
4) Michael Faraday
HT3chel S
Correct Answer: Dmitri Mendeleev
SHI Heelith
Candidate Answer: Michael Faraday
ATschdl thrs

QID : 195 - With which sport is Shekhar Naik associated?

MR A1k fohd Wl 9 IS 87
Options:

1) Hockey

glch

2) Cricket
fehche

3) Football

Heard
4) Table Tennis

G RAGE: |

Correct Answer: Cricket

fehehe

Candidate Answer: Hockey

glehl
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QID : 196 - Rath Yatra of Lord Jagannath is a famous
festival of which state?

WA STTATY <hl I T fohd TST Al Teh UG TIBR 872
Options:

1) Odisha

3nfSam

2) Uttar Pradesh

IR UG

3) Andhra Pradesh

378N TeRT

4) Tamil Nadu

SIEEEIS

Correct Answer: Odisha

anfeam

Candidate Answer: Andhra Pradesh
3TTET LT

QID : 197 - Who has won the National Bravery Award
20177

foha= I F8Te YRERR 2017 SiidT 872
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Options:
1) Tarh Peeju
dR Uiy
2) Bhagwant Singh
Wdd {8
3) Rajan Tiwari
NSERGEIR]
4) Prakshit Dhandekar
TehIRT S-S ehT

Correct Answer: Tarh Peeju

dR U]
Candidate Answer: Prakshit Dhandekar
chTLT Hradh

QID : 198 - Who is the author of the book hamed
'Narendra Modi: A Political Biography'?

R HIEY: Ueh ASTHITdeh STl ATH J&ieh o aixddh hi 87
Options:

1)\Ale\.xanderr Bard

3etdoiel JTs

2) Neel Mukherjee

et TRasit

3) Daman Singh

o g

4) Andy Marino

gel A

Correct Answer: Andy Marino

TSI ARAY
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Candidate Answer: Andy Marino

get aRkAt
QID : 199 - Which country is not among the G4 countries?

I T QT 51 4 220 A A8 82

Options:
1) Brazil
EINIG

2) Germany
STHAT

3) Japan
NIEIC

4) Pakistan
BlICTSIE]

Correct Answer: Pakistan

BIHETSIGH

Candidate Answer: Brazil

SITotlet
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QID : 200 -

Match the following.

TArafaaa & Feea Hifa

River/ Treaty with Neighbouring
G country / 2RiY 3T & WA
gaEla

A. Indus 1. Bangladesh
oy ClEE ol

B. Ganga 2. Nepal
e aurer

C. Kosi 3. Pakistan
HrET aTfeREdTe

Options:

1) C-1, A-3, B-2

2) A-3,B-1,C-2

3) B-2, A-3, C-1

4) C-2, A-1,B-3

Correct Answer: A-3, B-1, C-2
Candidate Answer: A-3, B-1, C-2
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